
/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\J��������
��

6HPLQDULXP�G\SORPRZH�
GU�0XFKD�.U]\V]WRI�=%�
�����.20387(52:$�
���$'0�/����:

�������������7\J��������
��

1DU]ĊG]LD�DQDOL]\
]DVREyZ�]�LQWHUQHWX�PJU
3DUDGRZVNL�5DIDá� =%�
�����.20387(52:$�
���$.6�/����/�

�������������7\J������
�����

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� PJU�3LQWDO
$UNDGLXV]� =%�����
.20387(52:$� ���
%1�/����&�

:�W\JRGQLX����üZLF]HQLD
���PLQ�

�������������7\J���������
�����������������

6RFMRORJLD�LQWHUQHWX�PJU
3DUDGRZVNL�5DIDá� =%�
�����.20387(52:$�
���$.6�/����&�

SR
QL

HG
]L

Dã
HN

�������������7\J���������
����������������

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� PJU�3LQWDO
$UNDGLXV]� =%�����
.20387(52:$� ���
35$�'����/$%�

Z�W\JRGQLX����]DMĊFLD���
PLQXW

�������������7\J���������
�����������������

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� PJU�3LQWDO
$UNDGLXV]� =%�����
.20387(52:$� ���
35$�'����/$%�

Z�W\JRGQLX����]DMĊFLD���
PLQ�JRG]LQD������������

�������������7\J���������

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� PJU�3LQWDO
$UNDGLXV]� =%�����
.20387(52:$� ���
35$�'����/$%�

Z�W\JRGQLX���]DMĊFLD���
PLQXW

�������������7\J��������
��

5DFKXQNRZRĞü
ILQDQVRZD��üZ�� :ROQD
%HDWD� =%�����
.20387(52:$� ���
5,3����/�:$5������5,3�
/����:

Z
WR

UH
N

�������������7\G]���

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

�������������7\J���������
�������������

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� GU�8FLHNODN�-HĪ
3DXOLQD� =%�����
.20387(52:$� ���
5,3����/�:$5������5,3�
/����:

�������������7\J���������
�����������������

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� GU�8FLHNODN�-HĪ
3DXOLQD� =%�����
.20387(52:$� ���
5,3����/�:$5������5,3�
/����:

�������������7\J�����

.XUV\��V]NROHQLD�+RUEDF
]�(G\WD� =%�����
.20387(52:$

�������������7\G]���

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

ĤU
RG

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\J���������
��������������������

7HFKQRORJLH�LQIRUPDF\MQH
Z�WáXP��L�EL]QHVLH� GU
.LHáE�6WDUF]HZVND�(ZD�
=%�����
.20387(52:$� ���
)*3�/����:

�������������7\J�����

7HFKQRORJLH�LQIRUPDF\MQH
Z�WáXP��L�EL]QHVLH� GU
.LHáE�6WDUF]HZVND�(ZD�
=%�����
.20387(52:$� ���
)*�/����:

�������������7\J�����

7HFKQRORJLD�LQIRUPDF\MQD
Z�WáXPDF]HQLDFK�L�Z
NRPXQLNDFML��üZ�� GU�.LHáE�
6WDUF]HZVND�(ZD� =%�
�����.20387(52:$�
���)$�/����/��7-6

�������������7\J�����

7HFKQRORJLD�LQIRUPDF\MQD
Z�WáXPDF]HQLDFK�L�Z
NRPXQLNDFML��üZ�� GU�.LHáE�
6WDUF]HZVND�(ZD� =%�
�����.20387(52:$�
���)$�/����/��&+�)5

�������������7\J������
�����

7HFKQRORJLD�LQIRUPDF\MQD
�ODE�� PJU�3LQWDO
$UNDGLXV]� =%�����
.20387(52:$� ���
%1�/����&�

:�W\JRGQLX����üZLF]HQLD
���PLQ�

�������������7\G]���

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

F]
Z

DU
WH

N

�������������7\J��������
��������

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

�������������7\J��������
��������

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

�������������7\J��������
��������

7HFKQRORJLD�LQIRUPDF\MQR�
NRPXQLNDF\MQD�L
LQIRUPDW\ND��ODE�� PJU
*yUD�7RPDV]� =%�����
.20387(52:$� ���
:)�/����/�

SL
ĈW

HN

�������������7\J��������
��

3UDZR�PLĊG]\QDURGRZH
SXEOLF]QH��ZDU��GU
.DQLHZVND�'RURWD� =%�
�����.20387(52:$�
���35$�:����:$5

�������������7\G]��

0LJUDFMH�D�EH]SLHF]HĔVWZR�SDĔVWZD
�ZDU�� SURI��0L]JDOVNL�-HU]\� =%�����
.20387(52:$� ���%1�6����&������
%1�6����:

�������������7\J��������
��

3UDZR�PLĊG]\QDURGRZH
SXEOLF]QH��ZDU��GU
.DQLHZVND�'RURWD� =%�
�����.20387(52:$�
���35$�:����:$5

�������������7\J��������

3RVWĊSRZDQLH�F\ZLOQH
�ZDU�� GU�-DVLĔVND
-XVW\QD� =%�����
.20387(52:$� ���
35$�:����:$5

�������������7\G]��

3UDZGD�L�PąGURĞü� GU
0LV]F]\ĔVNL�5\V]DUG�=%�
�����.20387(52:$�
���$'0�6����.

�������������7\G]��

2FKURQD�JRVSRGDUNL�SDĔVWZD�NRQZ���G
U�0DWVLOL�%HWKXHO�=%�����
.20387(52:$� ���%1�6����:

�������������7\J�������

3UDZGD�L�PąGURĞü� GU
0LV]F]\ĔVNL�5\V]DUG�=%�
�����.20387(52:$�
���$'0�6����.

�������������7\G]��

3RVWĊSRZDQLH�F\ZLOQH
�ZDU�� GU�-DVLĔVND
-XVW\QD� =%�����
.20387(52:$� ���
35$�:����:$5

�������������7\J��������

6HPLQDULXP� GU
.DQLHZVND�'RURWD� =%�
�����.20387(52:$�
���$'0�5����6(0

�������������7\J��������

6HPLQDULXP� GU
.DQLHZVND�'RURWD� =%�
�����.20387(52:$�
���$'0�5����6(0

VR
ER

WD

�������������7\G]��

6HPLQDULXP� GU�3DOXV]HN
.DUROLQD� =%�����
.20387(52:$� ���
$'0�6����6(0

�������������7\G]��

-HGQRVWNL�VDPRU]ąGX
WHU\WRULDOQHJR�Z�V\VWHPLH
RFKURQ\�EH]S������ GU�KDE�
%RJXVáDZ�3U]\ZRUD��SURI�
8-'� =%�����
.20387(52:$� ���
$'0�6����$6

�������������7\G]��

6HPLQDULXP� GU�3DOXV]HN
.DUROLQD� =%�����
.20387(52:$� ���
$'0�6����6(0

�������������7\J�����

3RGVWDZ\�SUDZD
IDUPDFHXW\F]QHJR� .DF]
PDU]\N�:LWHFND
0DJGDOHQD� =%�����
.20387(52:$� ���
$'0�5����.

�������������7\G]��

8VWUyM�VDPRU]ąGX
WHU\WRULDOQHJR��üZ�� 5XNV
]D�3DZHá��PJU� =%�����
.20387(52:$� ���
$'0�5����&�

�������������7\J�������

3RGVWDZ\�SUDZD
IDUPDFHXW\F]QHJR� .DF]
PDU]\N�:LWHFND
0DJGDOHQD� =%�����
.20387(52:$� ���
$'0�5����.

�������������7\G]��

6HPLQDULXP� GU�KDE�
%RJXVáDZ�3U]\ZRUD��SURI�
8-'� =%�����
.20387(52:$� ���
$'0�5����6(0

�������������7\G]��

3RGVWDZ\�SUDZD
IDUPDFHXW\F]QHJR� .DF]
PDU]\N�:LWHFND
0DJGDOHQD� =%�����
.20387(52:$� ���
$'0�5����.

�������������7\J���������
������

6HPLQDULXP� SURI��]Z��GU�
KDE��*U]\ERZVNL�0DULDQ�
=%�����
.20387(52:$� ���
$'0�6����6(0

�������������7\G]��

6HPLQDULXP� GU�KDE�
%RJXVáDZ�3U]\ZRUD��SURI�
8-'� =%�����
.20387(52:$� ���
$'0�5����6(0

�������������7\J�������
��

6HPLQDULXP� SURI��]Z��GU�
KDE��*U]\ERZVNL�0DULDQ�
=%�����
.20387(52:$� ���
$'0�6����6(0

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



/DWRB����

3RPLHV]F]HQLH�5R]NãDG���=%������.20387(52:$��7\J������

�������������7\G]��

8VWUyM�VDPRU]ąGX
WHU\WRULDOQHJR��üZ�� 5XNV
]D�3DZHá��PJU� =%�����
.20387(52:$� ���
$'0�5����&�

�������������7\G]��

-HGQRVWNL�VDPRU]ąGX
WHU\WRULDOQHJR�Z�V\VWHPLH
RFKURQ\�EH]S������ GU�KDE�
%RJXVáDZ�3U]\ZRUD��SURI�
8-'� =%�����
.20387(52:$� ���
$'0�6����$6

�������������7\G]��

3RGVWDZ\�SUDZD
IDUPDFHXW\F]QHJR� .DF]
PDU]\N�:LWHFND
0DJGDOHQD� =%�����
.20387(52:$� ���
$'0�5����.

������
������
7\G]��

3RGVWDZ\
SUDZD
IDUPDFHXW\
F]QHJR� .D
F]PDU]\N�
:LWHFND
0DJGDOHQD
� =%�����
.20387(
52:$� ��
�$'0�5���
.

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


